[bookmark: _GoBack]CS101 SOLVED QUIZ NO 4 DATED February 21, 2014

 DS130400238 : Sanam Hafeez  
Quiz Start Time: 04:32 PM   
Time Left  5 
 sec(s)    

Question # 1 of 10 ( Start time: 04:32:14 PM )  Total Marks:  1  
The new jobs, created in the organization because of the computing, are ___________. 
Select correct option:  
 Chief Information officer 
 Chief knowledge officer 
 Chief security officer 
 All of the given    Ans

Question # 2 of 10 ( Start time: 04:33:43 PM )  Total Marks:  1  
In __________________ automatic machines perform various tasks that were previously performed by humans. 
Select correct option:  
 Fuzzy Logic 
 Robotics   Ans
 Rule based Systems 
 None of these 

Question # 3 of 10 ( Start time: 04:34:50 PM )  Total Marks:  1  
DoS is________ ? 
Select correct option:  
 Crime 
 Cyber crime   Ans
 Not a crime 
 A software 

Question # 4 of 10 ( Start time: 04:35:55 PM )  Total Marks:  1  

_________________ is a field that uniquely identifies each record stored in a table 
Select correct option:  
 Key 
 Primary Key Ans
 Foreign Key 
 Query



Question # 5 of 10 ( Start time: 04:37:21 PM )  Total Marks:  1  

Because of computing, _________ profession(s) is/are being eliminated. 
Select correct option:  
 Typists 
 Bank tellers 
 Telephone operators 
 All of the given   Ans

Question # 6 of 10 ( Start time: 04:38:12 PM )  Total Marks:  1  
Autonomous Web Agents are also known as _________________ 
Select correct option:  

 Mobile Agents
 Softbots
 Both "Mobile Agents" & "Softbots"   Ans
 None of these
 
Question # 7 of 10 ( Start time: 04:38:49 PM )  Total Marks:  1  

JPEG stands for _____________________________________.  
Select correct option:  
 Joint Photographic External Group 
 Journal Photographic Experts Group 
 Joint Photographic Experts Group   Ans
 None of these 

Question # 8 of 10 ( Start time: 04:39:09 PM )  Total Marks:  1  

Which of the given statement results are correct regarding + operator? I. document.write(“virtual +university” + “of Pakistan “); Answer: Virtual university of Pakistan II document.write(“2+3” +2.34); Answer: 2+32.34  
 
Select correct option:  
 both are correct 
 both are wrong 
 I wrong   II correct 
 I correct  II wrong    Ans
 

 

Question # 9 of 10 ( Start time: 04:40:30 PM )  Total Marks:  1  

The Cyberwarefare is a ______ 
 
Select correct option:  
 
 Crime   Ans
 War 
 Software 
 Game 

Question # 10 of 10 ( Start time: 04:41:53 PM )  Total Marks:  1  

_____________________ based on the principles of the approximate reasoning faculty that humans use when faced with linguistic ambiguity. 
 
Select correct option: 
 Fuzzy Logic   Ans
 Rule-based Systems 
 Feed-Forward Network 
 None of these 
 

